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Note: All questions are compulsory. Carrying of mobile phone during examinations will e

Ireated as case of unfair means.

Q.1 | Acausal LTI system is described by the differenréé—equation [06] { CO4
Yl =yln - 1] + yln~ 2]+ x[n - 1.

Find the system function (2) = Y(2)/X(2). Plot the poles and zeros of
H(z). Indicate the ROC and find the unit step response of the system.,
Also find a stable (non-causal) unit impulse response that satisfies the
difference equation. R

Q.2 | Determine the functions of time, x(t), for all the possible associated [ [06] | CO4

N . (s+2)
ROCs for X (s) = Firoia
the time functions.

Q3 | Dete?:fli}lethelmplﬁgrgs_p_o;ls_e of cbntinugﬁﬁksystem described I;)-/g“ [06] | CO2
following differential equation:

4 (t)+7d (t) +12 (r)—d (&) + 2x(t
ag? 7 gV H 12y (6 = Zx(0) + 2x(e)

Specify about the stability and causality of all

Q4 (a) Determine the DTFT of the signal x[n] = 27 sin Gn) ul[—n]. [06] | CO3
(b) Consider a discrete LTI system with impulse response

hln] = (l)n ufn].

2 i
Using DTFT, determine the response of the system to the input x[n] =

=n-. ——
Q.5 | Define the following terms-

L. Sampling theorem

2. Nyquist Criteria

3. Impulse train signal _

Q.6 | If the impulse Esphoﬁ-se of an Eﬁy&e?n 1|n] = {3,3‘,3?3}%?%&&6_ [05] | CO2
output of this system for the input x[n] = {1,4,5,6} .

[06] | CO5
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